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(Faculty of Science) 

Question No. I in Part I is compulsory. 

(Immunology Microbiology & Biotechnology) E 

Answer the following 

ZOOLOGY-III 

short 

(b) What is agglutination? 

Atempt four questions from Part lI selecting at least one questions fron each section. AM questton 

carry equal marks. 

Write your roll number on question paper before start writing answers of questhons. 

Roll No. 

PART-I/ATT-I 

(a) What are the general symptoms of inflammation? 

(c) What are the two regions of heavy chain of antibody? 

(d) Name the scientist who first diagnosed smallpox. I 

7958734 

1 

Maximum Marks: 34 
3frhct4 3f5: 34 

|1x10=101 

[P.T.O] 



5. 

6. 

2. 

1 WVhat is the composition of the bacterial Cell Wall? 

() Write name of tuberculosis causing bacteria. 

(g) Expand RFLP and RAPD. 

. M) Wh­f àre the vectors for recombinant DNA transfer? 

() Nane the chemical agent use for cell fusion. 

2172-I11 

Ai What is transduction? 

(b) Complement reaction 

Write shot notes on the following -
(a) Lymphocytes 

(a) aft5TU 

(b) vRye# HAAhyT 

PART-II/4T-I 

Write short notes on 

Section-A/qUG-3 

Define paratope. Describe basic structure of Immunoglobulin molecule. 

Describe the mechanism of cell mediated immunity. 

(a) Types of Culture Media 

Section-B/qUG 

(b) Conjugation between F male and F female 

Write an account on Gram pOsitive baderia of medical importance. 
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8 

10 

Why replication in lagging strand is diseontinuous? Explain with require enzymes tor 

replication. 

Write an account on methods of protoplast fusion. 

Write short note on -

Section-C/UGH 

(a) DNA foot printing 
(b) Application of genetic engineering 

What is cloning? Describe the successful method of Cloning in mammals with 

advantage and disadvantage. 

[2+4-6) 
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